«I"SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025




Instruction number
VICA WIND 28 m/s VICA-1x2_V1

SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date

15 PANELS 12.03.2025

UK

Technical Information:

Average wind speed: 26 m/s

Snow load: 1.6 kN/m?

Important:

Before assembly, verify that the construction meets local requirements, considering environmental exposure specific to the location. Consultation
with a licensed structural engineer is required

PL

Informacje techniczne:

Srednia predkos¢ wiatru: 26 m/s

Obcigzenie $niegiem: 1,6 kN/m?

Wazne:

Przed montazem nalezy sprawdzi¢, czy konstrukcja spetnia wymagania lokalne, uwzgledniajac ekspozycje na warunki sSrodowiskowe w danej
lokalizacji. Wymagana konsultacja z uprawnionym projektantem budowlanym.

DE

Technische Informationen:

Durchschnittliche Windgeschwindigkeit: 26 m/s

Schneelast: 1,6 kN/m?

Wichtig:

Vor der Montage ist zu priifen, ob die Konstruktion die ortlichen Anforderungen erfiillt, wobei die Umwelteinflisse am jeweiligen Standort zu
berticksichtigen sind. Eine Beratung durch einen zugelassenen Bauingenieur ist erforderlich.

FR

Informations techniques:

Vitesse moyenne du vent : 26 m/s

Charge de neige : 1,6 kN/m?

Important :
Avant le montage, vérifiez que la construction répond aux exigences locales, en tenant compte de I'exposition aux conditions environnementales
spécifiques a I'emplacement. Une consultation avec un ingénieur en structure agréé est requise.

IT

Informazioni tecniche:

Velocita media del vento: 26 m/s

Carico neve: 1,6 kN/m?

Importante:

Prima del montaggio, verificare che la struttura soddisfi i requisiti locali, tenendo conto dell’'esposizione alle condizioni ambientali specifiche della
posizione. E richiesta la consulenza di un ingegnere strutturale autorizzato.

Ccs

Technické informace:

Primérna rychlost vétru: 26 m/s

Snéhové zatiZeni: 1,6 kN/m?

Dalezité:

Pfed montdzi zkontrolujte, zda konstrukce spliiuje mistni pozadavky s ohledem na vystaveni konkrétnim environmentdlnim podminkam v dané
lokalité. Je vyZzadovdana konzultace s autorizovanym stavebnim inZzenyrem.

SK

Technické informacie:

Priemerna rychlost vetra: 26 m/s

ZataZenie snehom: 1,6 kN/m?

Délezité:

Pred montazou skontrolujte, & konstrukcia spitia miestne poziadavky, pricom zohladnite vystavenie $pecifickym environmentalnym podmienkam
danej lokality. Je potrebna konzultacia s autorizovanym stavebnym inZinierom.



Instruction number
VICA WIND 28 m/s VICA-1x2_V1

SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date

15 PANELS 12.03.2025

ES

Informacidn técnica:

Velocidad media del viento: 26 m/s

Carga de nieve: 1,6 kN/m?

Importante:

Antes del montaje, verifique que la construccion cumpla con los requisitos locales, teniendo en cuenta la exposicidn a las condiciones ambientales
especificas de la ubicacidn. Se requiere la consulta con un ingeniero estructural autorizado.

PT

Informagodes técnicas:

Velocidade média do vento: 26 m/s

Carga de neve: 1,6 kN/m?

Importante:

Antes da montagem, verifique se a estrutura atende aos requisitos locais, considerando a exposi¢do as condicdes ambientais especificas do local. E
necessdria a consulta com um engenheiro estrutural licenciado.

RO

Informatii tehnice:

Viteza medie a vantului: 26 m/s

Incércare de zépada: 1,6 kN/m?

Important:

Tnainte de montaj, verificati dacd structura indeplineste cerintele locale, luand in considerare expunerea la conditiile de mediu specifice locatiei. Este

necesara consultarea unui inginer constructor autorizat.

NL

Technische informatie:

Gemiddelde windsnelheid: 26 m/s

Sneeuwbelasting: 1,6 kN/m?

Belangrijk:

Controleer vé6r de montage of de constructie voldoet aan de lokale vereisten, rekening houdend met de blootstelling aan specifieke
omgevingsomstandigheden op de locatie. Overleg met een erkende bouwkundig ingenieur is vereist.

Y

Teknisk information:

Genomsnittlig vindhastighet: 26 m/s

Snélast: 1,6 kN/m?

Viktigt:

Innan montering, kontrollera att konstruktionen uppfyller lokala krav med hansyn till exponering fér miljéférhallanden pa platsen. Radgor med en
behorig byggnadsingenjor.

HU

Miiszaki informaciok:

Atlagos szélsebesség: 26 m/s

Hoéterhelés: 1,6 kN/m?

Fontos:

A szerelés el6tt ellendrizze, hogy a szerkezet megfelel-e a helyi kévetelményeknek, figyelembe véve a helyi kornyezeti feltételeket. Konzultacié egy
engedéllyel rendelkez6 épitési mérnokkel sziikséges.

EL

Texvikég mAnpodopieg:

Méaon taxutnta avepou: 26 m/s

®oprtio xtoviov: 1,6 kN/m?

ZNMHAVTLKO:

Mpwv amno tn cuvapuoloynaon, BeBalwBeite OTL N KAtAoKEUH TTANPOL TLG TOTUKEG amaltroetg, AapBdvovtag urtodn tnv €kBeon otig MePLP AANOVTLKEC
oUVONKeG TNG ouyYKeKPLUEVNG TomoBeoiag. Aratteital StaBouAeuacn e €£0UGLOSOTNEVO TIOALTLKO UNXOVLKO.



SYNERGA

VICA

1x2 car
15 PANELS

Instruction number

WIND 28 m/s VICA-1x2_V1
MAN UAL SNOW 1,6 kN/m2

Release date

12.03.2025

5880

gl o
5487 =5 =
o 3 3 3
! | 23
|
5600

1134

PV PANEL




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

Foundation construction manual.

Concrete of class B20/25

Foundation in

accordance with

the technical
design.

5600

3003




VICA

1x2 car
15 PANELS

SYNERGA

WIND 28 m/s
SNOW 1,6 kN/m2

MANUAL

Instruction number

VICA-1x2_V1

Release date

12.03.2025

A 24 mm

r-ker-Il RAWLPLUG

1 | CAR_IV_STO1

2 | CAR_IV_STO02

3 Threaded rod i I

M16x185 8.8 185
4 | DIN 125 A17
\\1:_,;5:’
N\
5 | DIN 127 M16 Q

—

6 | DIN 934 M16 @%}

Not included in the standard set




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

150

340

R-ker-ll RAWLPLUG




Instruction number

VICA WIND 28 m/s VICA-1x2_V1
SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
2763 _
EE- 1 5]
a 1 I‘ e 1=
pu
: 1) (2
M R
[
)
&
-
B
H
~ ~
€ (2 |
-y o
|
= =
T= —lir‘ﬁl—
3003




Instruction number
SYNERGA | VICA

MANUAL A e
L SNOW 1,6 kN/m2 Release date
X2 car

15 PANELS 12.03.2025

1 | CAR_IV_S02 | &=
CAR_IV_S03 S N
CAR_IV_TO1 i
M12x150
DIN 931 o )
M2 R
DIN 125 Q)
M12 ~
DIN 127 \\)
M12
DIN 934 @




WIND 28 m/s
SNOW 1,6 kN/m2

SYNERGA MANUAL

Instruction number

VICA-1x2_V1

Release date

12.03.2025

~57 Nm

6




Instruction number

WIND 28 m/s VICA-1x2_V1
SYNERGA Vl!zcc:ﬁ MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
1 CAR_IV_LO1
M12 DIN 127 M1 2 DIN 934

2 SET 1

M12x30 DIN®33 MI12 DIN 125

~57Nm

11




SYNERGA| VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

1 | CAR_IV_S02

I

2 | CAR_IV_S01

=

3 | CAR_IV_L02

0
o}
o
(o}

¢}
Q
Q
(o}

4 SET 1

MI12x30 DIN933 M12 DIN 125

E\.

M12 DIN 127

M12 DIN 934

12




Instruction number

SYN ERG A VI CA M AN U AL SNﬁwZ'ZGSk::;:I , VICA-1x2_V1

1x2 car Release date

15 PANELS 12.03.2025

13




VICA

1x2 car
15 PANELS

SYNERGA

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

1 |CAR_IV_Wo01

2 |CAR_IV_WO02

3 |CAR_IV_Wo03

4 SET 1

E\.

M12 DIN 127

M12 DIN 934

14




Instruction number

SYN ERG A VI CA M AN U AL SNﬁwZ'ZGSk::;:I , VICA-1x2_V1

1x2 car Release date

15 PANELS 12.03.2025

~57 Nm

15



Instruction number

SYNERGA | VICA MANUAL SNOW 1.6 K/m2 |— oo
15 PANELS 12.03.2025
A 19 mm
1 | CAR_IV_R02 K
2 |CAR_IV_RO1| [:o s

SET 1

M12x30 DIN®33 MI12 DIN 125

iy

SET 2

M12x30 DIN?33

L\

MI12 DIN 9021

M12 DIN 127 M12 DIN 934

16




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

17




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

A 19 mm

REPEAD
x1

18




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

19




Instruction number

WIND 28 m/s VICA-1x2_V1
SYNERGA Vl!zcc:ﬁ MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
STEP 10
A 19 mm
== ==

1 | CAR_IV_PO1

2 | CAR_IV_P02

3 SET 1

M1 230 DINF33 MI12 DIM 125

@\

%,,

M12 DINT27

M12 DIN 934

g

4 SET 2

M12x30 DIN?33 MI12 DIN 2021

M12 DIN 127 M12 DIN 934

%} |

\

=i

|
|
i

20




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

21




VICA

1x2 car
15 PANELS

SYNERGA

WIND 28 m/s
SNOW 1,6 kN/m2

MANUAL

Instruction number

VICA-1x2_V1

Release date

12.03.2025

STEP 11

1 |M12 DIN 582

Tension
2 screw

Carabiner
3 10x100
a DIN 6899B
6 mMm

U-BOLT LN

> | CLAMP o
STEEL CABLE [L=7,5m o

6 Fi 6 S
7 SET 3 \H T| _ R

22




SYNERGA

VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

23




SYNERGA| VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

STEP 12

(HEX): 6 mm

ZU1

CLAMP

END
CLAMP

M8
DIN 127

M8x40
DIN 912

24




Instruction number

VI CA WIND 28 m/s VICA-1x2_V1
SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025

~8Nm

25




SYNERGA| VICA

1x2 car
15 PANELS

MANUAL

WIND 28 m/s
SNOW 1,6 kN/m2

Instruction number

VICA-1x2_V1

Release date

12.03.2025

STEP 12* (OPTIONAL)

1 | T45 1040x2200

INL NN NSNS

JF3-2-5,5x25
E16

26




SYNERGA

MANUAL

Instruction number

eeeeeeeeeee

CD

N
JHLAR

3

N\

\

AMIMTH ke
NN

A
DN

W
1
|
1
1
1




Instruction number
VICA MAN UAL WIND 28 m/s VICA-1x2_V1
SYN ERGA SNOW 1,6 kN/m2 Release date
1x2 car
15 PANELS 12.03.2025
QUANTITY [pcs]
NR.
15 pannels
CAR_IV_S01 A 7
‘_jﬂ a a P—
CAR_IV_S02 A 4
‘70 o P
CAR_IV_03 S ;— - - 4} 4
CAR_IV_PO1 .l' ° o o == 30
CAR_IV_P02 G/ ’ -] 12
CAR_IV_RO1 J . a 2 N ] 10
2 o -] o JI
CAR_IV_RO02 J * RE II. 4
(=] o |
CAR_IV_LO1 8
CAR_IV_L02 o / 4
CAR_IV_WO01 5 //// ,
), /
CAR_IV_WO02 5
CAR_IV_WO03 2
CAR_IV_STO1 )
CAR_IV_ST02 5
M12
DIN 582 4

28




Instruction number
VICA WIND 28 m/s VICA-1x2_V1
SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
NR QUANTITY [pcs]
15 pannels
M12
TENSION @__;_1@1 o @f )
SCREW
CARABINER )
10x100
DIN 6899B 4
6 mm
U-BOLT /
CLAMP 8
STEELCABLE | | =7 5 m
Fi 6 ! —_ 2
M12x150
DIN 931 @ ) 12
A
CAR_IV_TO1 O | 12
M12x30 T
DIN 933 U 352
M12
DIN 9021 168
M12
DIN 125 580
M12 -~
DIN 127 W) 376
M12 =\
DIN 934 @?;7 372
ZU1 36
CLAMP 24
END CLAMP 12

29




Instruction number
VICA WIND 28 m/s VICA-1x2_V1
SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
QUANTITY [pcs]
NR.
15 pannels
M8x40 A \
DIN 912 e ) 36
M8 _
DIN 127 36
MANUAL 1 1
CE MARKING 1 1
DECLARATION
OF CONFIRMITY 1 1
Packer's Signature Date

30




Instruction number
VI CA WIND 28 m/s VICA-1x2_V1
SYNERGA o MANUAL SNOW 1,6 kN/m2 | Release date
15 PANELS 12.03.2025
UANTITY [pcs
NR. OPTIONAL Q Lpcs]
15 pannels
T45 N SN N SN SN S 4= 16
1040x2200 3
. °
JF3—2E—f(,55X25 «% S 304
©
o
Threaded rod { - =
M16x185 8.8 |_ 185 # .'(;; 16
Q
DIN 125 A17 N f, 16
P
( d \\ ©
DIN 127 M16 (O
\ 9 16
- =
0\ o
DIN 934 M16 @i{/ .E 16
°
R-KER-II =
RAWLPLUG = < 1

Packer's Signature

31







DECLARATION OF PERFORMANCE

1. Product

2. Intended Use

3. Place of Production

4. Assessment and Verification System
of Performance Consistency:

5. Harmonized Standard
Notified Body
Certificate Number:

6. Declared Performance Characteristics:

Essential Characteristics

Construction Class

Dimensional Tolerances

Weldability

Crack Resistance

Fatigue Strength

Load-Bearing Capacity

Deformation at Serviceability Limit State
Reaction to Fire

Fire Resistance

Cadmium and its Compounds Content
Radioactive Substances Content

Durability

No. SYNERGA 01/2021

Construction Set:
CARPORT VICA_1x2 according to the specification dated

In accordance with the assembly manual CARPORT VICA_1x2_V1

SYNERGA POLSKA
Ul. Ustronna 45
93-350 t.6dz, Polska
System 2+

EN 1090-1:2009+A1:2011
TUV Thuringen Polska sp. z 0.0. id: 2827
2827-CPR-PW01-1-1769-0311.24.00

Performance Properties

EXC2

Class 1 according to EN 1090-2
S350GD

NPD

NPD

According to CARPORT VICA design
According to CARPORT VICA design
A1 (unpainted structure)

NPD

NPD

NPD

In accordance with the CARPORT VICA design

The performance characteristics of the product specified above are consistent with the declared set of performance properties. This declaration of performance is
issued in accordance with Regulation (EU) No 305/2011 under the sole responsibility of the manufacturer specified above.

On behalf of the manufacturer

[Name, Surname, Position]

Date and Place of Issue






2827

SYNERGA POLSKA Sp. z o.0.
Ul. Dolna 59
98-160 Sedziejowice 24
24
2827-CPR-PW01-1-1769-0311.24.00

EN 1090-1:2009+A1:2011
CARPORT VICA

Dimensional Tolerance: Class 1 according to
EN1090-2,

Weldability: S350GD

Resistance to Brittle Fracture: NPD
Reaction to Fire: A1 according to EN 13501-1
Cadmium Emission: NPD

Radioactivity: NPD

Durability: In accordance with the CARPORT
VICA design and specification issued on

Structural Characteristics:

Structural Characteristics: NPD

Load-Bearing Capacity: Design and calculations

according to EN 1993-1 No. CARPORT VICA
Fire Resistance: NPD

Fatigue Strength: NPD

Execution: According to EN 1090-2

Execution Class: EXC2




